
(.02+.04)=0.06; A=48'';R=-'f®=966. SubHtitutiiiK in the

eijuation R'=799.{)0—84«.e9—0.12

.=887.43.

0.8;n«0—(1.89048

_— 4fi.91

~—().(l528tr

therefore from Searles' Tablo VI wo get

r)'=B''28'=(i°4fit}.

L'=48^-6.460=742.35 ft.

'r'=»(887.4;J+a,02 tan -j =396,86 ft.,

whicli ii the ilutii required. Othor problems rai^lit bo taken, but

wo buiievu enough bus buun given to Hhuw thu worthing of the

curve.

Some onginoors, it might bo romarl<od, «oem tr. think that

UHiiig what they uall " eluborute truiinition curven " is a wastn of

time. No reason in otlVred, however, to show why it uhould take

more lima to do it right liian wrong. At any rate, proMont

ruilruud |>rautice demands the bo8t, and a properly qui<litiod en-

giiioor in oi.i able to renpond to thuHodemundii, Surely, if ii thing

Im worth doing at all, it in worth doing well.

In I'onelusion the wi-ilor winhos to e.xtond tlianUN to Prof.

Crandull for bin kinduetta in allowing the utte of hit) noLeit and

iiiblen.


